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Section 1 - PaperI-English Language 

 

1) What is the plural form of Index?  

A) Indxss  
B) Indexss  
C) Indices  
D) Indexs  

 

 
 
2) Find the most appropriate opposite meaning word: 
STARTLED  

A) Endless  
B) Amused  
C) Astonished  
D) Relaxed  

 

 
 
3) Select the correct form of verb from the given options.  
How many students in your class ____________ from 
Sikkim? 

 
A) is  
B) are  
C) has  
D) was  

 

 
Read the passage and answer the questions that follow: 
 
There is an obvious difference in the way battles have 
been fought throughout time. Early battles were probably 
fought between rival hunting bands as disorganized mobs. 
However, during the Battle of Megiddo, the first reliably 
documented battle in the fifteenth century BC, actual 
discipline was instilled in both armies. However, during the 
many wars of the Roman Empire, barbarians continued 
using mob tactics.As the Age of Enlightenment dawned, 
armies began to fight in highly disciplined lines. Each 
would follow the orders from their officers and fight as a 
single unit instead of individuals. Each army was 
successively divided into regiments, battalions, 
companies, and platoons. These armies would march, line 
up, and fire in divisions.Native Americans, on the other 
hand, did not fight in lines, utilizing instead guerrilla 
tactics. American colonists and European forces 
continued using disciplined lines, continuing into the 
American Civil War.A new style, during World War I, 
known as trench warfare, developed nearly half a century 
later. This also led to radio for communication between 
battalions. Chemical warfare also emerged with the use of 
poisonous gas during World War I.By World War II, the 
use of the smaller divisions, platoons and companies 

became much more important as precise operations 
became vital. Instead of the locked trench warfare of 
World War I, during World War II, a dynamic network of 
battles developed where small groups encountered other 
platoons. As a result, elite squads became much more 
recognized and distinguishable.Manoeuvre warfare also 
developed with an astonishing pace with the advent of the 
tank, replacing the archaic cannons of the Enlightenment 
Age. Artillery has since gradually replaced the use of 
frontal troops. Modern battles now continue to resemble 
those of World War II, though prominent innovations have 
been added. Indirect combat through the use of aircraft 
and missiles now constitutes a large portion of wars in 
place of battles, where battles are now mostly reserved 
for capturing cities.  

4) Which of the following new styles were used during 
World War I?  

A) Dynamic network of battles  
B) Radio for communication between battalions  
C) Mob tactics  
D) Guerrilla tactics  

 

 
 
5) Armies started fighting in highly disciplined lines from 
the  

A) World War II  
B) American Civil War  
C) Age of Enlightenment  
D) World War I  

 

 
 
6) Guerrilla tactics was used by which of the following 
groups?  

A) Romans  
B) European forces  
C) American colonists  
D) Native Americans  

 

 
 
7) Which among the following did Manoeuvre warfare 
replace?  

A) Missiles  
B) Artillery  
C) Tank  
D) Cannons  
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8) Which of the following was recognized and 
distinguishable during World War II?  

A) Locked trench Warfare  
B) Mob tactics  
C) Poisonous gas  
D) Elite squads  

 

 
 
9) Select the correct option.  
The Rime of ___________ ancient mariner. 

 
A) an  
B) no article  
C) the  
D) a  

 

 
 
10) Find the most appropriate opposite meaning word: 
EVASIVE  

A) Dissembling  
B) Intangible  
C) Deceptive  
D) Forthright  
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Section 2 - PaperI-Education and General Awareness 

 

11) UNESCO facilitates the development of evidence 
based policies in response to new trends and 
developments in higher education so as to achieve  

A) Millennium Development Goals  
B) Minimum Level of Learning  
C) Common Minimum Programme  
D) Minimum Education Programme  

 

 
 
11) ୟୁେନେƯା ____ ପାଇବା ପାଇଁ ଉőତର ଶŁିାେର ନୂଆ େǺŢ ଓ ବକିାଶ 
Ȅତǰିିୟାେର Ȅମାଣ ଆଧାରତି ପଲିସଗିଡୁକିର ସବୁଧିା କରୁଛ ି|  

A) ସହȐାƑୀ ବକିାଶ ଲŁȻ  
B) ଶŁିାର ସବƽନମିȪ Ʊର  

C) ସାଧାରଣ ସବƽନମିȪ କାଯƽȻǰମ  
D) ସବƽନମିȪ ଶŁିା କାଯƽȻǰମ  

 

 
12) The report of committee under the chairmanship of 
Janardan Reddy in 1992, provided a base for emergence 
of which of the following programmes?  

A) National System of Education  
B) Minimum Education Programme  
C) Programme for Science Education  
D) Revised Programme of Action  

 

 
12) 1992 େର ଜନାଦƽନ େରşୀŋ ଅżŁତାେର ବସି ǆବା କମିଟ ି ରେିପାଟƽ 
ନମିȪମżରୁ େକଉଁ େଯାଜନା ଉǘ ଥାନା ପାଇଁ ଏକ ଆଧାର େଯାଗାଇ େଦଇǆଲା?  

A) ନȻାସନାଲ ସƨିମ ଅଫ ଏଜୁେକସନ  
B) ମିନମିମ ଏଜୁେକସନ େȄାǲାମ  

C) େȄାǲାମ ଫର ସାଇନȷ ଏଜୁେକସନ  
D) ରଭିାଇସଡ େȄାǲାମ ଅଫ ଆŅନ  

 

 
13) Which of the following options is one of the purposes 
of Ram Murti Review Committee?  

A) Developing programme for vocational education  
B) Making primary education accessible  
C) Making the Operation Black Board Scheme of 1986 

policy more successful  
D) Suggesting measure for mid-day meal scheme   

 

 

13) ନମିȪମżରୁ େକଉଟଁ ିରାମ ମତୂǃ ସମୀŁା କମିଟରି େଗାଟଏି ଉେŵଶȻ ǆଲା?  

A) ଧƃାମୂଳକ ଶŁିା ପାଇଁ କାଯƽȻǰମ ବକିାଶ କରବିା  
B) Ȅାଥମିକ ଶŁିାକୁ ସଗୁମ କରବିା  
C) ଅପେରସନ 1986 ବȲାǉ  େବାଡƽ Ưିǡ  କୁ ଅǇକ ସଫଳ କରିବା  
D) ମżାƊ େଭାଜନ େଯାଜନା ପାଇଁ ନୟିାମକ ȄƱାବ  

 

 
 
14) Read the following statements with regards to the 
Legislative powers of the President of India and choose 
the CORRECT option.  

(i)The President has the power to convene and prorogue 
to dissolve Lok Sabha. 

(ii) The President nominates three members to the Lok 
Sabha from the Anglo-Indian Community. 
 
A) (i) is TRUE and (ii) is TRUE  
B) (i) is FALSE and (ii) is TRUE  
C) (i) is FALSE and (ii) is FALSE  
D) (i) is TRUE and (ii) is FALSE  

 

 
 
14) ଭାରତର ରାƩପତŋି େବଧୖାନକି ଶĽି ବଷିୟେର ନମିȪେର ଦଆିଯାଇǆବା 
ଉĽିଗଡୁକି ପଢŽୁ ଓ ସଠକି ବକିƝ ଚୟନ କରŽୁ |  
(i) େଲାକସଭା ଏକǿ କରିବା ବା ଭŏ କରବିା ପାଇ ଁ Ƴଗିତ କରିବାର ଶĽି 
ରାƩପତŋି ଅଛ ି 

(ii) ରାƩପତ ି ଆେŏȲା-ଇŢିଆନ ସମୁଦାୟରୁ େଲାକସଭାକୁ ତନି ି ଜଣ ସଭȻŋୁ 
ମେନାନୀତ କରପିାରେିବ | 

 
A) (i) ଠକି ଓ (ii) ଠକି  

B) (i) ଭୁଲ ଓ (ii) ଠକି  

C) (i) ଭୁଲ ଓ (ii)ଭୁଲ  

D) (i) ଠକି ଓ (ii)ଭୁଲ  
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15) Which of the following is an antibiotic?  

A) Lutein  
B) Amoxicillin  
C) Cetirizine  
D) Acetaminophen  

 

 
 
15) ନମିȪମżରୁ େକଉଁଟ ିଏକ ଆŠିବାେୟାଟକି  

A) ଲୁȻଟǜି   
B) ଆେମାŅସିơିନି  

C) େସଟରିଜିǜି   
D) ଏସିଟାମେିନାେଫǜ   
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Section 3 - PaperI-Reasoning 

 

16) 10 oranges cost as much as 5 mangoes. By what 
percentage the cost of a mango is more than that of an 
orange?  

A) 50%  
B) 100%  
C) 25%  
D) 200%  

 

 
 
16) 10ଟ ିକମଳା ଦାମେର 5ଟ ିଆମȴ ଆସଥିାଏ । ତାେହେଲ େଗାଟଏି ଆମȴର ଦର 
େଗାଟଏି କମଳା ଦରଠାରୁ େକେତ Ȅତଶିତ ଅǇକ?  

A) 50%  
B) 100%  
C) 25%  
D) 200%  

 

 
 
17) Instruction: 
In the following questions mark:  
1, if the question can be answered with the help of 
statement I alone. 

2, if the question can be answered with the help of 
statement II alone. 

3, if the question can be answered with the help of both I 
and II. 

4, if the question can't be answered at all. 

What is the area of the square? 

Statement I : Length of the side of the square is 10 units. 

Statement II : A rectangle of similar area has a perimeter 
of 16 units. 

 
A) 2  
B) 3  
C) 4  
D) 1  

 

 
 
 
 
 
 
 

17) ନେିŵƽଶାବଳୀ: ନମିȪଲିǅତ ȄଶȪେର  
1 ଚƺିଟ କରŽୁ ଯଦ ିେକବଳ ମŽବȻ I ସାହାଯȻେର ȄଶȪର ଉŧର ଦଆିଯାଇପାରୁଛ ି
।  

2 ଚƺିଟ କରŽୁ, ଯଦ ିେକବଳ ମŽବȻ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ 
ପାରୁଛ ି।  

3, ଯଦ ିଉଭୟ I ଏବଂ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ ପାରୁଛ ି।  

4, ଯଦ ିȄଶȪର ଉŧର େକେବ ବ ିଦଆିଯାଇ ପାରବି ନାହ ǂ । 

  

ବଗƽାକାର େŁǿର େŁǿଫଳ େକେତ ? 

ମŽବȻ I :  ବଗƽାକାର େŁǿର େଗାଟଏି ପାଖର ଲମȴ 10 ୟୁନǓି । 

ମŽବȻ II :  ସମାନ ଅଂଚଳର ଆୟତନ େହଉଛ ିପରǇିର 16 ୟୁନǓି । 

 
A) 2  
B) 3  
C) 4  
D) 1  

 

 
 
18) In a certain code language LIVE is written as 129225. 
How is PAUSE written in that code language?  

A) 16121295  
B) 16111195  
C) 16111295  
D) 16121195  

 

 
 
18) ଏକ ନŵିǃƨ ସାେŋତକି ଭାଷାେର LIVE କୁ 129225 େବାଲି 
େଲଖାଯାଇଛ ି। େସହ ିସାେŋତକି ଭାଷାେର PAUSE କୁ କଭିଳ ିେଲଖାଯିବ ?  

A) 16121295  
B) 16111195  
C) 16111295  
D) 16121195  
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19) Instruction: Below mentioned are statements followed 
by some conclusions. You have to take the given 
statements to be true even if they seem to be at variance 
from the commonly known facts. Read all the conclusions 
and then decide which of the given conclusions logically 
follows from the given statements disregarding commonly 
known facts.  
Statements: 

Some pomeranians are bull dogs. 

Some bull dogs are labradors. 

No labrador is doberman. 

Conclusions:  

I) No doberman is bull dog. 

II) No labrador is pomeranian. 

III) Some bull dogs are pomeranians. 

 
A) Only III follows  
B) Only I follows  
C) Only I and III follows  
D) Only I and II follows  

 

 
 
19) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନିଅŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ: କଛି ି େପାେମରାନଅିǜ େହଉଛŽ ି ବୁǤ ଡǋ । କଛି ି ବୁǤ ଡǋ 
େହଉଛŽ ି ଲାȆାଡǣ । େକୗଣସ ିଲାȆାଡǣ , େଡାବରମȻାǜ ନୁହଁŽ ି।  

ନƦିସƽ:  

I)  େକୗଣସ ିେଡାବରମȻାନ, ବୁǤ ଡǋ ନୁେହ ଁ।  

II)  େକୗଣସ ିଲାȆାଡǣ ,  େପାେମରନିଅିǜ ନୁହଁŽ ି। 
 
lll) କଛି ିବୁǤ ଡǋ େହଉଛŽି େପାେମରାନଅିǜ । 

 
A) େକବଳ  III ଅନୁସରଣ କରŽୁ ।  
B) େକବଳ I ଅନୁସରଣ କରŽୁ ।  
C) େକବଳ I ଏବଂ  III ଅନୁସରଣ କରŽୁ ।  
D) େକବଳ I ଏବଂ  II ଅନୁସରଣ କରŽୁ ।  

 

 

20) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts. 
 
Statements: 
All the arteries are organs. 
Some bones are arteries 
 
Conclusions: 
I) All the arteries are bones. 
II) Some bones are organs.  

A) Both I and II follow  
B) Only I follows  
C) Only II follows  
D) None follow  

 

 
 
20) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି । 
ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନଅିŽୁ,  ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥ◌୍ୟର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠିǉ ଭାେବ ଅନୁସରଣ କରୁଛ ି
।  
ମŽବȻ: ସବୁ ଧମନୀ ଗଡୁିକ ଶରୀର ଅଂଗ । କଛି ିହାଡ େହଉଛ ିଧମନୀ । 

ନƦିସƽ:  

I) ସବୁ ଧମନୀ ଗଡୁକି ହାଡ ।  

II) କଛି ିହାଡ଼ େହଉଛ ିଶରୀରର ଅଂଗ । 

 
A) ଉଭୟ I ଏବଂ II ଅନୁସରଣ କରŽୁ  

B) େକବଳ I ଅନୁସରଣ କରŽୁ  
C) େକବଳ II ଅନୁସରଣ କରŽୁ  

D) େକୗଣସ ିକରŽୁ ନାହǂ  
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Section 4 - PaperI-Teaching Aptitude 

 

21) Which of the following methods is Student-Centered 
and has a Low-Tech approach towards learning?  

A) Differentiation Instruction Method  
B) Flipped Classroom Model  
C) Direct Instruction Method  
D) Kinesthetic Learning Model  

 

 
 
21) ନମିȪଲିǅତ ମżରୁ େକଉଁ ବǇି ଛାǿ ମାନŋ ପାଇଁ େକƄତି ଅେଟ ଓ ଶǅିବା 
Ȅତ ିକମ େଟକନକି ଯĽୁ ଦୃƨିେକାଣ ଅେଟ?  

A) ବେିଭଦନ ନେିŵƽଶ ବǇି  

B) ଫିȲପ ŀାସରୁǡ ମେଡ଼ଲ  

C) ȄେତȰŁ ନେିŵƽଶ ବǇି  
D) କାଇେନସେଥଟକି ଶŁିା ମେଡ଼ଲ  

 

 
22) Effective learning, good teacher-pupil relationships, 
and peer collaboration can be obtained in a  

A) Controlling classroom environment  
B) Experienced teaching system  
C) Experienced management system  
D) Controlled classroom environment  

 

 
22) Ȅଭାବକାରୀ ଅżୟନ, ଭଲ ଗୁରୁ-ଶଷିȻ ସƓକƽ, ଏବଂ ସହକମƽୀŋ ସହେଯାଗ 
ଏହା ମżରୁ େକଉଁ ǆେର ମିଳଥିାଏ ?  

A) ନୟିſଣ େହଉǆବା େȎଣୀଗହୃ ବାତାବରଣେର  

B) ଅନୁଭବୀ ଶŁିାଦାନ ବȻବƳା  
C) ଅନୁଭବୀ ପରଚିାଳନା ବȻବƳା  
D) ନୟିſତି େȎଣୀଗହୃ ବାତାବରଣେର  

 

 
23) According to Pragmatists, what should be the aim of 
education?  

A) Education becomes stereotyped and education takes 
the form of indoctrination  

B) Self-realisation or unfolding of what is potential within 
the child  

C) Self-expression or self-gratification  
D) Enabling the individual to control his environment and 

fulfil his possibilities  
 

 

23) ବାƱବବାଦୀମାନŋ ଅନୁଯାୟୀ ଶିŁାର ଲŁȻ କ’ଣ େହବା ଉଚତି ?  

A) ଶŁିା ଗତାନୁଗତକି େହାଇଯାଇଛ ିଏବଂ ଶିŁା ଭାବନାର ରୂପ େନଇଛ ି 

B) ନଜିକୁ ବୁଝବିା କମିȴା ଶଶୁି ମżେର େକଉଁ Łମତା ରହଛି ିତାହା ଚƺିବିା  
C) ଆŮ ଅଭିବȻĽି କମିȴା ଆŮ ସେŽାଷ  
D) ବȻĽି ବେିଶଷŋୁ ତାŋ ପରେିବଶକୁ ନୟିſଣ କରବିା ଏବଂ ନଜିର 

ସƗାବନାଗଡ଼ୁକୁି ପୂରଣ କରବିା ନମିେŽ ସମଥƽ କରବିା  
 

 
 
24) For teaching in an inclusive classroom, a teacher 
needs to possess competencies that help her/him to plan 
and implement strategies that provide students wider 
access to regular curriculum. Which of the following 
options is one such competency?  

A) Be able to informally assess the skills a student needs 
B) Adopt teaching practices that will benefit the needs of 

majority students  
C) Ignore the diversity in the class and focus on 

completing the syllabus on time  
D) Identify students who need special attention and put 

them in a separate class  
 

 
 
24) ଏକ ସƙିଳତି େȎଣୀଗୃହେର ଶŁିାଦାନ ପାଇଁ, ଜେଣ ଶŁିକŋ Łମତା ǆବା 
ଆବଶȻକ ଯାହା ତାŋୁ ରଣନୀତଗିଡୁକିର େଯାଜନା କରବିା ଓ ଲାଗୁ କରବିାେର 
ସାହାଯȻ କରବି ଯାହା ବଦିȻାଥƽୀମାନŋୁ ନିୟମତି ପାଠȻǰମେର ଅǇକ ବଶିଦ ଭାେବ 
ଉପƳାପନା କରଥିାଏ | ନମିȪମżରୁ େକଉଁଟ ିେସହପିରି ଏକ Łମତା?  

A) ଜେଣ ବଦିȻାଥƽୀŋୁ ଆବଶȻକ ǆବା ଦŁତାଗଡୁକିର ଅେନୗପଚାରକି ଭାେବ 
ମଲୂାୟନ କରବିାକୁ ସŁମ େହବା |  

B) ଅǇକାଂଶ ବଦିȻାଥƽୀମାନŋ ଆବଶȻକତାକୁ ଲାଭ େଦଉǆବା ଶିŁାଦାନ 
ଅଭȻାସଗଡୁିକ ǲହଣ କରବିା |  

C) େȎଣୀେର ବବିଧିତାକୁ ଉେପŁା କର ିସମୟ ଅନୁସାେର ପାଠȻǰମ ସƓťୂƽ 
କରବିା ଉପେର żାନ େଦବା |  

D) ବେିଶଷ żାନ ଆବଶȻକ କରୁǆବା ବଦିȻାଥƽୀମାନŋୁ ଚƺିଟ କରିବା ଓ 
େସମାନŋୁ ଅନȻ ଏକ େȎଣୀେର ରǅବା |  

 

 
 
 
 

 

Techofworld.In

Techofworld.In



Set Id : 53678_113 11-June-2019_Batch4_D.El.Ed Odia 

Page8of23  

25) The theory of cognitive devlopment is associated with  

A) Maria Montessori  
B) Kohlberg  
C) Jean Piaget  
D) Anna Freud  

 

 
25) େବାଧଶĽି ବକିାଶର ସŶିାŽଟ ିକାହା ସହତି ଜଡ଼ତି ଅେଟ ?  

A) ମାରଆି ମେŠଶର ି 
B) େକାଲବଗƽ  
C) ଜǜି ପିେଜǓ  
D) ଆƊା େȅଉǕ  

 

 
 
26) Which of the following agencies of education is natural 
and incidental where there are no predetermined aims, 
curricula, methods, and teachers?  

A) College education  
B) Informal education  
C) Formal education  
D) School education  

 

 
 
26) ଶŁିାର ନେିମȪାĽ ଅନୁƪାନଗଡ଼ୁିକ ମżରୁ େକଉଁଟ ିȄାକୃତକି ଏବଂ ଆକƹିକ 
େଯଉଠଁାେର େକୗଣସି ପବୂƽ ନŶିƽାରତି ଲŁȻ, ପାଠȻǰମ ଏବଂ ପŶତ ିଏବଂ ଶŁିକ 
ନାହଁାŽ?ି  

A) ମହାବଦିȻାଳୟ ଶŁିା  
B) ଅେନୗପଚାରକି ଶିŁା  
C) ଔପଚାରକି ଶŁିା  
D) ବଦିȻାଳୟ ଶିŁା  

 

 
 
27) Learning Pyramid depicts different retention rates for 
various teaching methodologies. Which of the following 
options is the CORRECT sequence of the retention rates 
in the ascending order?  

A) Lecture, Reading, Audio-visual, Demonstration, 
Group Discussion, Practice by doing, Teaching others 

B) Reading, Lecture, Group Discussion, Audio visual, 
Practice by doing, Teaching others, Demonstration  

C) Lecture, Reading, Audio-visual, Group Discussion, 
Demonstration, Practice by doing, Teaching others  

D) Reading, Lecture, Audio-visual, Group Discussion, 
Practice by doing, Teaching others, Demonstration  

 

27) ଶŁିା ପିରାମିଡ ବଭିିƊ ଶŁିା ପŶତଗିଡୁକି ପାଇଁ େକେତ ଧର ିରǅବା Łମତା 
ଥାଏ ତାହା ସଚୂାଏ | ସାନରୁ ବଡ ǰମେର ନମିȪ ବକିƝଗଡୁକି ମżରୁ େକଉଁଟ ିଧର ି
ରǅବା ହାରର ସଠକି ǰମ?  

A) େଲǉ ଚର, ପଢବିା, ଅଡଓି-ଭିଜୁଆଲ, ବťƽନା, ଗƿପ-ଡସିକସନ, କାମ କର ି
ଅଭȻାସ କରବିା, ଅନȻମାନŋୁ ପଢାଇବା  

B) ପଢିବା, େଲǉ ଚର, ଗƿପ-ଡସିକସନ, ଅଡଓି-ଭଜୁିଆଲ, କାମ କରି ଅଭȻାସ 
କରବିା, ଅନȻମାନŋୁ ପଢାଇବା, ବťƽନା  

C) େଲǉ ଚର, ପଢବିା, ଅଡଓି-ଭିଜୁଆଲ, ଗƿପ-ଡସିକସନ, ବťƽନା, କାମ କର ି
ଅଭȻାସ କରବିା, ଅନȻମାନŋୁ ପଢାଇବା  

D) ପଢିବା, େଲǉ ଚର, ଅଡଓି-ଭଜୁିଆଲ, ଗƿପ-ଡସିକସନ, କାମ କରି ଅଭȻାସ 
କରବିା, ଅନȻମାନŋୁ ପଢାଇବା, ବťƽନା  

 

 
 
28) Read the following statements and choose the 
CORRECT option.  
(i) Institutions, which would like to make an improvement 
in the accredited status, may apply for Re-assessment, 
after a minimum of one year and before three years of 
accreditation subject to the fulfilment of other conditions 
specified by NAAC from time to time for the purpose. 

(ii) NAAC will not undertake the accreditation of off-shore 
campuses for Universities. 

 
A) (i) is FALSE and (ii) is TRUE  
B) (i) is TRUE and (ii) is TRUE  
C) (i) is FALSE and (ii) is FALSE  
D) (i) is TRUE and (ii) is FALSE  

 

 
 
28) ନେିମାĽ ବାକȻ ଗୁଡ଼କି ପଢ଼Žୁ ଏବଂ ଠǉି  ବକିƝ ବାଛŽୁ। 
 
(i) େଯଉଁ. ଅନୁƪାନଗଡ଼ୁକି ମାନȻତା Ƴିତେିର ଉƊତ ିଚାହଁାŽ,ି େସମାେନ ସମୟ 
ସମୟେର ଏǜ ଏଏସ ିŸାରା ନŶିƽାରିତ ଅନȻ ସŧƽଗଡ଼ୁକୁି ପରୂଣ କରିବା ପେର 
ଅନୁେମାଦନର ସବƽନମିȪ ଏକବଷƽ ପେର ଏବଂ ତନିବିଷƽ ପବୂƽରୁ ପନୁଃ ମଲୂȻାŋନ 
ପାଇଁ ଆେବଦନ କରପିାରେିବ 
 
(ii) ଏǜ ଏଏସ ିବƤି ବଦିȻାଳୟ ପାଇଁ ବେିଦଶେର ǆବା କȻାƓସ ଗଡ଼ୁକି ନମିେŽ 
ଅନୁେମାଦନ ǲହଣ କରିପାରବି ନାହ ǂ।  

A) (i)ଭୁଲ ଏବଂ (ii) ଠǉି   
B) (i)ଠǉି  ଏବଂ (ii) ଠǉି   
C) (i)ଭୁଲ ଏବଂ (ii)ଭୁଲ  
D) (i)ଠǉି  ଏବଂ (ii) is ଭୁଲ  
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29) For a slow learner which one of the following 
strategies is best for learning?  

A) Learning according to a learner's pace will be 
excellent  

B) A slow learner should work hard so that it results in 
better learning  

C) Learner can go for additional tution  
D) Prescriptive/ remedial teaching  

 

 
 
29) ଜେଣ ଧୀମା ଶିŁାଥƽୀ ପାଇଁ ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ିସବƽେȎƪ ଉପାୟ ?  

A) ଶŁିାଥƽୀର ଗତ ିଅନୁଯାୟୀ ଶŁିଣ ହ ǂ ଉŦɲ ƨ େହବ  

B) ଜେଣ ଧୀମା ଶିŁାଥƽୀ କଠନି ପରȎିମ କରବିା ଉଚǘି ଯାହା ଫଳେର ଏହା ଭଲ 
ଶŁିଣ ସୃƨି କରପିାରବି  

C) ଶŁିାଥƽୀ ଅତରିĽି ଟଉିସǜ ପାଇଁ ଯାଇପାରେିବ  
D) ଆନୁବଂଶିକ/ Ȅତକିାରମୂଳକ ଶŁିଣ  

 

 
 
30) During vedic period, students studied close to their 
teachers in their school called  

A) homestay  
B) universities  
C) gurukuls  
D) hostels  

 

 
 
30) େବଦୖକି ଯଗୁେର ଛାǿଛାǿୀମାେନ େସମାନŋ ଶŁିକŋ ସହତି ନିବଡ଼ି ଭାେବ 
ଅżୟନ କରୁǆବା ବଦିȻାଳୟକୁ କଣ କୁହାଯାଏ ?  

A) ǲାହƳȻ  
B) ବƤିବଦିȻାଳୟ  
C) ଗୁରୁକୁଳ  

D) ଛାǿାବାସ  
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Section 5 - PaperII-Odia Language 

 

31) ‘ଲଲାଟ େଲଖନ’ ରୂଢଟିରି ଅଥƽ କ’ଣ ?  

A) ଏକାǲତା  
B) ଭାଗȻ େଲଖା  
C) ଆୟୁଷ ବୃŶି   
D) କପାଳ େରଖା  

 

 
 
32) ‘ଅଲଣା କଥା’ ରୂଢଟିରି ଅଥƽ କ’ଣ ?  

A) ବȻଥƽ କଥା   
B) ଖାଦȻେର ଲୁଣ ପକାଇବା  
C) ମଲୂȻହୀନ କଥା  
D) ଅନଥƽ ଘଟବିା  

 

 
 
33) ମଧୁଦାସ ଖାଇ ଖାଇ ସƓŧ ି ସାରେିଦେଲ | େରଖାŋିତ ଶƑଟକୁି େକଉ ଁ
ପଦରୂେପ ବȻବହାର କରାଯାଇଛ ି?  

A) ବେିଶଷȻ  
B) ǰିୟା ବାଚକ ବେିଶଷȻ  
C) ଅସମାପକିା ǰିୟା  
D) ǰିୟା ବେିଶଷଣ  

 

 
 
34) ନମିȪଲିǅତ େକଉଁ ଶƑଟ ି‘ପୁରǩ ’ ଅବȻୟ Ÿାରା ଗଠତି ?  

A) ପୁେରାଭାଗ  
B) Ȅତକୃିତ ି 
C) ȄତପିŁ  

D) Ȅତମିୂŧǃ   
 

 
 

35) ' େଶୖଶବ ' - ଏହା କ ିȄକାର ବେିଶଷȻ କୁ ସଚୂାଏ ?  

A) ନାମ ବାଚକ  
B) ଗଣୁ ବାଚକ   
C) ଇƄୟି ǲାହȻ  
D) ବƱୁ ବାଚକ  

 

36)  ' Łǿିୟ ' ଶƑର Ȅକୃତ ିȄତȻୟ ଅଥƽକୁ ଚƺିଟ କର |  

A) େଯ Łତ ରୁ ǿାଣ କେର  

B) ଏକ ଜାତ ି 
C) େଯ େŁତେର କାମକେର  
D) ରାଜବଂଶ  

 

 
 
37) ଇଂରାଜୀ ଶƑ ' ଅଡ଼ରଲି' ର ଓଡ଼ଆି ଶƑ କଣ େହବ ?  

A) ଆଦରଲି  
B) ଓଡ଼ରଲି  

C) ଅŵƽଳ ି 
D) ଅଡ଼ର  

 

 
 
38) େଯଉଁ ପଦ ମାżମେର େକୗଣସ ିକାମର ନŵିǃƨ ଅଥƽ ବୁଝାପେଡ଼, ତାହାକୁ କଣ 
କୁହାଯାଏ ?  

A) କŧƽା  
B) ବେିଶଷȻ   
C) ǰିୟା  
D) କମƽ  

 

 
 
39) ‘ମେିȎ’ – ଶƑଟ ିେକଉଁ ବଭିĽି େଯାେଗ ଗଠିତ ?  

A) ଷƪୀ  
B) Ÿତିୀୟା  
C) Ȅଥମା  
D) ପřମୀ  

 

 
40) ନମିȪଲିǅତ ମżରୁ େକଉଁ ଉପସଗƽଟ ିଅତଶିୟ ଅଥƽେର ବȻବହୃତ ହୁଏ ନାହ ǂ ?  

A) Ȅତ ି 
B) ଉǘ   
C) ନǣି   
D) ଅତ ି 
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41) ମାଟ ିକାƂଟ ିଭୁଶୁଡ ିପଡିଛ ି| େରଖାŋିତ ଶƑଟ ିକ ିȄକାର ବେିଶଷଣ ଉେơଖ 
କର |  

A) ǰିୟା ବାଚକ  
B) ବେିଶଷȻରୂପୀ  
C) ସବƽ ନାମକି   

D) ସମȴƆ ବାଚକ  
 

 
 
42) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି‘େପାଖରୀ’ ଶƑର ପଯƽȻାୟବାଚୀ ଶƑ ନୁେହ ଁ?  

A) ସରସୀ  
B) ତଟନିୀ  
C) ସେରାବର   

D) ପƦୁରଣିୀ   
 

 
 
43) ଆରବୀ ଶƑ ' ଅǅତଆିର' ର ଓଡ଼ଆି ଶƑ କଣ େହବ ?  

A)  ଅĽିଆର  

B) ଖȻାତରି  
C) ଅଖାତରି  

D) ଖାତରି  
 

 
 
44) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି‘ସାŁର’ ଶƑର ବପିରୀତ ଶƑ ?  

A) ନŁିର   

B) ନƮିଳ   
C) ନରିŁର   
D) ଅŁର  

 

 
 
45) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି‘ଅରଣȻ’ ଶƑର ପଯƽȻାୟବାଚୀ ଶƑ ?  

A) ମହିରି  
B) ଅରୁଣ   

C) ଅଟବୀ   
D) ରୁଚରି    
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Section 6 - PaperII-Mathematics 

 

46) If each of the interior angle of a regular polygon is 60°, 
then how many sides will be there in that polygon?  

A) 5  
B) 4  
C) 3  
D) 2  

 

 
 
46) ଯଦ ିଏକ ସାମାନȻ ପଲିଗǜ ର ȄେତȻକ ଆŽରକି େକାଣ 60˚ ଅେଟ, େତେବ 
ପଲିଗǜ ର େକେତାଟ ିବାହୁ ରହବି?  

A) 5  
B) 4  

C) 3  
D) 2  

 

 
 
47) The profit shared by Ananth, Banu and Chirag in a 
business are Rs. x, Rs. y and Rs. z respectively. If x and 
y are less than z by 30% and 37% respectively. How much 
percent is y less than x?  

A) 10%  
B) 5%  
C) 20%  
D) 15%  

 

 
 
47) େଗାଟଏି ବȻବସାୟେର ଅନŽ, ବନୁ ଏବଂ ଚରିାଗŋ ଲାଭର ଭାଗ େହଉଛ ି
ଯଥାǰେମ Rs. x, Rs. y ଏବଂ Rs. z। ଯଦ ିx ଏବଂ y zଠାରୁ ଯଥାǰେମ 30% 
ଏବଂ 37% କǡ । ତା’େହେଲ y x ଠାରୁ େକେତ Ȅତଶିତ କǡ ?  

A) 10%  
B) 5%  
C) 20%  
D) 15%  

 

 
 
48) The age of Alex 6 years ago was half of his present 
age. What will be his age after 2 years from now?  

A) 12 years  
B) 13 years  
C) 14 years  
D) 11 years  

 

48) 6 ବଷƽ ପୂବƽରୁ ଆେଲŅର ବୟସ ତାହାର ବŧƽମାନ ବୟସର ଅଧା ǆଲା | 
ବŧƽମାନରୁ 2 ବଷƽ ପେର ତାର ବୟସ େକେତ େହବ?  

A) 12 ବଷƽ  
B) 13 ବଷƽ  
C) 14 ବଷƽ  
D) 11 ବଷƽ  

 

 
 
49)  

 

A) 10  
B) 5  
C) 9  
D) 3  

 

 
49) 

  

A) 10  

B) 5  
C) 9  
D) 3  

 

 
50) If 

  = , then (2x+7) : (2y+9) =  

A) 1 : 1  
B) 7 : 9  
C) 9 : 7  
D) 9 : 11  
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50) ଯଦ ି  = , ତା’େହେଲ (2x+7) : (2y+9) =  

A) 1 : 1  
B) 7 : 9  

C) 9 : 7  
D) 9 : 11  

 

 
 
51) 

  

A) -4  
B) -2  
C) 4  
D) 2  

 

 
 

51) ଯଦ ି  , ଏବଂ , ତା’େହେଲ  

A) -4  
B) -2  

C) 4  
D) 2  

 

 
52) At an interest rate of 6%, how much simple interest 
would Rs. 12,000 earn over 2 years?  

A) Rs. 1540  
B) Rs. 1560  
C) Rs. 1400  
D) Rs. 1440  

 

 
52) 6% ସଧୁ ହାରେର, 2 ବଷƽେର ଟ. 12,000 େର େକେତ ସଧୁ ମିଳବି?  

A) ଟ. 1540  

B) ଟ. 1560  
C) ଟ. 1400  

D) ଟ. 1440  
 

 

53) What is the least number, which when divided by 12, 
15, 20 and 54 leaves a remainder of 7 in each case?  

A) 535  
B) 504  
C) 547  
D) 542  

 

 
 
53) େକଉଁ Łȁୁତମ ସଂଖȻା 12, 15, 20 ଏବଂ 54 ବଭିାଜତି େହେଲ ȄେତȻକ 
େŁǿେର ଭାଗେଶଷ 7 ରେହ?  

A) 535  
B) 504  

C) 547  

D) 542  
 

 
 
54) HCF of the four fractions 9/10, 11/25, 18/35, 21/40 is  

A) 1/1400  
B) 2/700  
C) 7/10  
D) 1/700  

 

 
 
54) ଚାେରାଟ ିଭňାଂଶ 9/10, 11/25, 18/35, 21/40 ର ଗ.ସା.ଗ.ୁ େହଉଛ ି 

A) 1/1400  

B) 2/700  
C) 7/10  

D) 1/700  
 

 
 
55) Two sides of a triangle are 7 cm and 13 cm 
repectively. If the perimeter is 27cm, then the third side is 
equal to  

A) 9 cm  
B) 8 cm  
C) 7 cm  
D) 10 cm  
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55) ଏକ ǿଭୁିଜ ର ଦୁଇଟ ିବାହୁ ǰମଶଃ 7 େସମି ଓ 13 େସମି ଅେଟ। ଯଦ ିପରǇି 
27େସମି ଅେଟ, େତେବ ତୃତୀୟ ବାହୁ __________ ସହତି ସମାନ ଅେଟ।  

A) 9 େସମି  
B) 8 େସମି  
C) 7 େସମି  
D) 10 େସମି  

 

 
 
56) The earnings of A and B are in the ratio 5 : 6. The ratio 
of their expenses is 7 : 9. B saves Rs. 3000 every month 
while A saves Rs. 1000 more than B. The total earnings 
and expenses of each of them are  

A) A - Rs. 28,000 and Rs. 21,000, B - Rs. 30,000 and Rs. 
25,000  

B) A - Rs. 35,000 and Rs. 19,000, B - Rs 20,000 and 
Rs.17,000  

C) A - Rs. 25,000 and Rs.15,000, B - Rs. 30,000 and Rs. 
21,000  

D) A - Rs. 25,000 and Rs. 21,000, B - Rs. 30,000 and 
Rs. 27,000  

 

 
 
56) A ଏବଂ B ŋର େରାଜଗାରର ଅନୁପାତ 5 : 6। େସମାନŋ ବȻୟର ଅନୁପାତ 
7 : 9। B ମାସକି Rs . 3000 ସřୟ କଲା େବେଳ ଠାରୁA B Rs . 1000 ଅǇକ 
ସřୟ କେର। େସମାନŋର ସମୁଦାୟ ଆୟ ଏବଂ ବȻୟ େହଉଛ ି 

A) A - Rs. 28,000 ଏବଂ 21,000, B - 30,000 ଏବଂ 25,000  

B) A - Rs. 35,000 ଏବଂ Rs. 19,000, B - Rs 20,000 ଏବଂ 
Rs.17,000  

C) A - Rs. 25,000 ଏବଂ 15,000, B - 30,000 ଏବଂ 21,000  

D) A - Rs. 25,000 ଏବଂ Rs. 21,000, B - Rs. 30,000 ଏବଂ Rs. 
27,000  

 

 
 
57) What is the area of a parallelogram, whose base is 45 
cm and height is 250 cm?  

A) 11500 cm²  
B) 11250 cm²  
C) 12250 cm²  
D) 11550 cm²  

 

 
 
 
 

57) 45 େସମି ଆଧାର ଓ 250 େସମି ଉőତା ǆବା ସାମŽରକିେŁǿର େŁǿଫଳ 
େକେତ?  

A) 11500 ବଗƽ େସମି  
B) 11250 ବଗƽ େସମି  
C) 12250 ବଗƽ େସମି  
D) 11550 ବଗƽ େସମି  

 

 
 
58) If a student multiplied a number by 3/5 instead of 5/3, 
what is the percentage of error in his calculation?  

A) 68%  
B) 24%  
C) 48%  
D) 64%  

 

 
 
58) ଯଦ ିଜେଣ ଛାǿ େଗାଟଏି ସଂଖȻାକୁ 3/5 ବଦଳେର 5/3େର ଗୁଣନ କେର, 
େତେବ ତା’ର ଗଣନାେର ତƿଟରି Ȅତଶିତ େକେତ?  

A) 68%  
B) 24%  
C) 48%  
D) 64%  

 

 
 
59) If A = {1,2,3,6,8,10} and B = {1, 2,4,6,9,12}, then A∪B 
is  

A) {1,2,6}  
B) {1,2,3,6,8,10}  
C) {1,2,4,6,9,12}  
D) {1,2,3,4,6,8,9,10,12}  

 

 
 
59) ଯଦ ିA = {1,2,3,6,8,10} ଓ B = {1, 2,4,6,9,12}, େତେବ A∪B 
େହଉଛ ି 

A) {1,2,6}  
B) {1,2,3,6,8,10}  
C) {1,2,4,6,9,12}  
D) {1,2,3,4,6,8,9,10,12}  
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60) If A, B and C are the three sets, then AU(B∩C) is equal 
to  

A) (A ∩ B) ∩(A ∩ C)  
B) (A ∩ B) U(A ∩ C)  
C) (A U B) U (A U C)  
D) (A U B) ∩ (A U C)  

 

 
 
60) ଯଦ ିA, B ଓ C େହଉଛŽି ତେିନାଟ ିେସଟ, େତେବ AU(B∩C) ସମାନ  

A) (A ∩ B) ∩(A ∩ C)  
B) (A ∩ B) U(A ∩ C)  
C) (A U B) U (A U C)  
D) (A U B) ∩ (A U C)  
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Section 7 - PaperII-Social Science 

 

61) Who among the following is the fourteenth President 
of India?  

A) Mr. Narendra Modi  
B) Mr. Pranab Mukherjee  
C) Mr. Ramnath Kovind  
D) Mr. A.P.J. Abdul kalam  

 

 
 
61) ନେିମȪାĽମାନŋ ମżରୁ କଏି ଭାରତର ଚତୁŵƽଶ ରାƩପତ?ି  

A) ȎୀଯĽୁ ନେରƄ େମାଦୀ  
B) ȎୀଯĽୁ Ȅଣବ ମୁଖƽାଜୀ  
C) ȎୀଯĽୁ ରାମନାଥ େକାବƃି  
D) ȎୀଯĽୁ ଏ.ପି.େଜ. ଅବଦୁǤ  କଲାମ  

 

 
 
62) An imaginary line that circles around the Earth dividing 
it into two equal halves or hemispheres is called  

A) Arctic circle  
B) Tropic of Cancer  
C) Tropic of Capricorn  
D) Equator  

 

 
 
62) ଏକ କାƝନକି ବୃŧ ଯାହା ପǆୃବୀକୁ େଗାଲାŶƽେର ବା ଦୁଇସମାନ ଭାଗେର 
ବଭିĽ କେର ତାକୁ କଣ କୁହାଯାଏ  

A) ଉŧରେମରୁ  

B) କକƽଟǰାŽ ି 
C) ମକରǰାŽ ି 

D) ବଷିୁବ େରଖା  
 

 
 
63) Which of the following heavenly bodies orbits a 
planet?  

A) Sun  
B) Satellite  
C) Rocket  
D) Comet  

 

 
 

63) ନେିମȪାĽ ମżରୁ େକଉଁ ମହାକାଶୀୟ ପିŢ ଏକ ǲହର ȄଦŁିଣ କେର?  

A) ସଯୂƽȻ  
B) ଉପǲହ  
C) ରେକǓ   
D) ଧମୂେକତୁ  

 

 
 
64) The first Red Fort trials began during which of the 
following years?  

A) 1934  
B) 1939  
C) 1947  
D) 1945  

 

 
 
64) ନେିମȪାĽ ମżରୁ େକଉଁ ବଷƽ Ȅଥମ ଲାǤ କơିା ବଚିାର ଆରƗ େହଲା?  

A) 1934  
B) 1939  

C) 1947  
D) 1945  

 

 
 
65) As per the India State of Forest Report (ISFR) 2017, 
which of the following states of India has the largest forest 
cover in terms of area?  

A) Uttar Pradesh  
B) Tamil Nadu  
C) Kerala  
D) Madhya Pradesh  

 

 
65) ଭାରତୀୟ Ȅାେଦଶକି ଅରଣȻ ରିେପାଟƽ 2017 ( ଆଇଏǩଏǞ ଆǣ) 
ଅନୁଯ଼ାୟୀ ,  ନମିȪଲିǅତ   ରାଜȻମାନŋ  ମżରୁ େŁǿଫଳ 
ଅନୁସାେର,  େକଉଁ  ରାଜȻେର   ସବƽାǇକ ଅରଣȻାřଳ ରହଛି ି ?  

A) ଉŧର Ȅେଦଶ  

B) ତାମଲିନାଡୁ  
C) େକରଳ  

D) ମż Ȅେଦଶ  
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66) Who among the following kings constructed the 
famous Grand Trunk Road?  

A) Akbar  
B) Sher Shah Suri  
C) Humayun  
D) Jahangir  

 

 
 
66) ନେିମȪାĽମାନŋ ମżରୁ କଏି ବଖିȻାତ ǲାŢ୍ Ǻŋ୍ େରାǕ  ନମିƽାଣ କରଥିେଲ?  

A) ଆକବର  

B) େଶରଶାହ ସରୁୀ  
C) ହୁମାୟୂନ  

D) ଜାହାŏିର  
 

 
 
67) Which of the following types of rainfall occurs when 
the saturated air mass encounters a mountain and the air 
is forced to rise?  

A) Frontal rainfall  
B) Cyclonic rainfall  
C) Convectional rainfall  
D) Orographic rainfall  

 

 
 
67) ପରପିĽୃ ଘନŭ ǆବା ବାୟୁ ପବƽତ ସହ ଧļାଖାଏ ଓ ବଳପୂକƽଭାେବ ଉŷƽଗାମୀ 
ହୁଏ , େସହ ିପରƳିିତେିର  ନମିȪଲିǅତ ମżରୁ େକଉଁ Ȅକାରର ବୃƨପିାତ େହାଇଥାଏ 
?  

A) ପରଚିଳନ ବୃƨିପାତ  
B) ବାତାବŧƽ ବୃƨିପାତ  

C) ତାପସଂřାରକ  ବୃƨିପାତ  
D) େଶୖେଳାǘ େŁାପ ବୃƨପିାତ  

 

 
 
68) Which among the following forms of Government exist 
in India?  

A) Parliamentary  
B) Dictatorial  
C) Military  
D) Presidential  

 

 
 
 

68) ଭାରତେର ନେିମȪାĽ ମżରୁ ସରକାରର େକଉଁ ବȻବƳା ରହଛି?ି  

A) ସଂସଦୀୟ  
B) ଏକଛǿ  

C) ସାମରିକ  
D) ରାƩପତୟି  

 

 
 
69) Which of the following Government of India Acts had 
major influence on drafting the Indian Constitution?  

A) Government of India Act, 1938  
B) Government of India Act, 1940  
C) Government of India Act, 1935  
D) Government of India Act, 1930  

 

 
 
69) ନେିମȪାĽ ମżରୁ େକଉଁ ଗଭťƽେମŠ ଅǞ  ଇŢିଆ ଆକȡର ଭାରତୀୟ ସƖିଧାନ 
ରୂପେରଖ ȄƱୁତେିର ଗୁରୁŭପୂťƽ Ȅଭାବ ରହǆିଲା?  

A) 1938  

B) 1940  
C) 1935  
D) 1930  

 

 
 
70) Whose resolution of 1870 advocated decentralization 
of power and formation of municipal government?  

A) Lord Mayo  
B) Lord Neil  
C) Lord Michael  
D) Lord Rippon  

 

 
 
70) ୧୮୭୦ ମସହିାେର କାହାର ȄƱାବ Łମତାର ବେିକƄକିରଣ ଏବଂ 
ନଗରପାଳକିା ସରକାର ଗଠନର ପŁଧର ǆଲା?  

A) ଲଡƽ ମାେୟା  
B) ଲଡƽ େନǤ   
C) ଲଡƽ ମାଇେକǤ   
D) ଲଡƽ ରପିନ  
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71) Which of the following statements is TRUE about Zero 
degree latitude?  

A) The slant rays of the sun falls at 0° latitude through 
out the year  

B) The temperature at 0° latitude is very cold  
C) The temperature at 0° latitude is cold throughout the 

year  
D) At 0° latitude the vertical rays of the sun falls 

throughout the year  
 

 
 
71) ଶୂନȻ ଡǲିୀ ଅŁାଂଶ ସମȴƆେର ନମିȪଲିǅତ  ଉĽିଗଡୁକି ମżରୁ େକଉଁ ଉĽିଟ ି
ସଠǉି  ଅଥƽ Ȅକାଶ  କରୁଛ ି?  

A) ସଯୂ଼ƽȻର ତୀଯ଼ƽକ ରଶିȯ ସାରା ବଷƽ ଶନୂȻ ଡǲିୀ ଅŁାଂଶେର ପଡଥିାଏ  
B) ଶୂନȻ ଡǲିୀ ଅŁାଂଶେର ତାପମାǿା  ଅତȻŽ  ଥŢା  
C) ଶୂନȻ ଡǲିୀ ଅŁାଂଶେର ତାପମାǿା  ବଷƽ ତମାମ ଅତȻŽ  ଥŢା ରେହ  

D) ସଯୂ଼ƽȻକରିଣ  ସଧିାସଳଖ  ଭାେବ ସାରା ବଷƽ ଶନୂȻ ଡିǲୀ ଅŁାଂଶେର 
ପଡିଥାଏ  

 

 
 
72) In to how many layers can the Earth be divided based 
on physical properties?  

A) 2  
B) 3  
C) 5  
D) 4  

 

 
 
72) େଭୗତକି ଗଣୁ ଆଧାରେର ପୃǆବୀକୁ େକେତାଟ ି Ʊରେର ବଭିାଜତି 
କରାଯାଇପାରବି?  

A) 2  

B) 3  
C) 5  

D) 4  
 

 
 
73) Which of the following options is the earliest vedic text 
that contains hymns of God?  

A) Rig Veda  
B) Sama Veda  
C) Yajur Veda  
D) Atharva Veda  

 

73) ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ିସବୁଠାରୁ Ȅଥମ େବଦୖକି ପାଠ ǆଲା େଯଉଁǆେର 
ଭଗବାନŋର ଭଜନ ସାମଲି ǆଲା?  

A) ରୁǉ େବଦ  
B) ସାମ େବଦ  
C) ଯଜୁର େବଦ  

D) ଅଥବƽ  େବଦ  
 

 
74) Vande Mataram, was sung first time at the session of 
the Indian National Congress held in _______  

A) 1919  
B) 1896  
C) 1886  
D) 1920  

 

 
74) ବେƃ ମାତରǡ  Ȅଥମ ଥର ପାଇଁ ଭାରତୀୟ ଜାତୀୟ କଂେǲସର ଅǇେବଶେର 
ଗାନ କରାଯାଇǆଲା। ଏହ ି ଅǇେବଶନ _______ ମସହିା େର ଅନୁƪିତ 
େହାଇǆଲା |  

A) 1919  
B) 1896  

C) 1886  
D) 1920  

 

 
75) The Silent Valley Hydroelectric project was called off 
and the area was declared as a National Park in 1985-86. 
This project is related to which of the following states of 
India?  

A) Arunachal Pradesh  
B) Karnataka  
C) Kerala  
D) Himachal Pradesh  

 

 
75) ନƱିƒ ଉପତȻାକାର  ଜଳ ବଦୁିȻǘ ȄକƝ ବାତଲି କରାେହାଇ ǆଲା ଓ ଏହ ି
Ƴାନକୁ 1985-86 ମସହିାେର  ଜାତୀୟ ଉଦȻାନ ଭାେବ େଘାଷଣା କରାେହାଇ 
ǆଲା.  ଏହ ି ȄକƝ  ଭାରତର  େକଉଁ ରାଜȻ  ସହ  ଯ଼Ľୁ ଅେଟ ?  

A) ଅରୁଣାଚଳ Ȅେଦଶ  

B) କťƽାଟକ  
C) େକରଳ  
D) ହମିାଚଳ Ȅେଦଶ  
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Section 8 - PaperII-Science 

 

76) The digestion of food in the body is an example of 
which of the following types of reaction?  

A) Displacement reaction  
B) Combination reaction  
C) Decomposition reaction  
D) Double displacement reaction  

 

 
 
76) ଶରୀରେର ଖାଦȻର ପାଚନ େହଉଛ ିନମିȪମżରୁ େକଉଁ Ȅକାରର Ȅତǰିିୟାର 
ଏକ ଉଦାହରଣ?  

A) ବƳିାପନ Ȅତǰିିୟା  
B) ସଂେଯାଜନ Ȅତǰିିୟା  
C) ଅପଘଟନ Ȅତǰିିୟା  
D) େŸୖତ ବƳିାପନ Ȅତǰିିୟା  

 

 
 
77) Two bodies X and Y have masses 20 kg and 5 kg 
respectively. Each one is acted upon by a force of 4 kg wt. 
If they acquire the same kinetic energy in times tA and tB, 
then the ratio tA/ tB is  

A) 1:2  
B) 1:4  
C) 3:4  
D) 2:1  

 

 
 
77) X ଏବଂ Y ଦୁଇଟ ି ପଦାଥƽର ବƱୁŭ ଯଥାǰେମ 20େକଜ ି ଏବଂ 5 
େକଜ।ି  ȄେତȻ ଉପେର 4େକଜ ି ଓଜନର ଏକ ବଳ Ȅେୟାଗ କରାଗଲା। ଯଦ ି
େସମାେନ  tA ଏବଂ tB ସମୟେର ସମାନ ଗତଜି ଶĽି ଅǇକାର କରŽ ିେତେବ tA / 
tB ର ହାର େହଉଛ ି 

A) 1:2  
B) 1:4  

C) 3:4  
D) 2:1  

 

 
 
78) Which options among the following usually helps a 
money plant to cling on a support as it grows?  

A) Clasping roots  

B) Stem  
C) Leaves  
D) Thorns  

 

 

78) ନମିȪ ବକିƝଗଡୁକି ମżରୁ ସାଧାରଣତଃ େକଉଁଟ ିମନ ିପȲାŠ ବଢବିା ସମୟେର 
ଏକ ସେପାଟƽକୁ ଧର ିରǅବାେର ସାହାଯȻ କରଥିାଏ?  

A) ଧରି ରହୁǆବା େଚର  
B) କାŢ  

C) ପǿ  
D) କŠା  

 

 
 
79) A specialised kind of cell division that reduces the 
chromosome number by half and results in the production 
of haploid daughter cells is known as  

A) Mitosis  
B) Fragmentation  
C) Meiosis  
D) Budding  

 

 
 
79) ଏକ ବେିଶଷ Ȅକାରର େକାଷ ବଭିାଜନ ଯାହା େǰାେମାେଜାମ ସଂଖȻାକୁ ଅଧା 
କରଦିଏି ଓ ଯାହା ଫଳେର ହାପଲଏଡ ଶଶିୁ େକାଷ ସୃƨି େହାଇଥାଏ, ତାହାକୁ କଣ 
କୁହାଯାଏ?  

A) ମେିଟାସସି  

B) ȅାଗେମେŠସନ  
C) େମଇଓସିସ  
D) ବଡିŏ  

 

 
 
80) Hyperthermus butylicus is an example of which 
microorganism?  

A) Virus  
B) Fungi  
C) Protozoa  
D) Archaebacteria  
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80) ହାଇପଥƽମƽସ ବୁȻଟଲିିକସ େହଉଛ ିେକଉଁ ସŃୂଜୀବର ଏକ ଉଦାହରଣ?  

A) ଭାଇରସ  
B) କବକ  

C) େȄାେଟାେଜାଆ  
D) ଆେକƽବȻାେକȡରଆି  

 

 
81) In which of the following plants, the stem grows 
underground with an irregular swelling known as rhizome?  

A) Garlic  
B) Onion  
C) Ginger  
D) Potato  

 

 
 
81) ନମିȪମżରୁ େକଉଁ ଉŹିଦେର, କାŢ ମାଟ ି ତେଳ ଅନୟିମିତ ଫୁଲା ସହତି 
ବଢଥିାଏ ଯାହାକୁ ରାଇେଜାମ କୁହାଯାଏ?  

A) ରସଣୁ  
B) ପିଆଜ  

C) ଅଦା  
D) ଆଳୁ  

 

 
 
82) 2H2(g) + O2(g) → 2H2O(l) 
The above reaction is an example of  

A) displacement reaction  
B) double displacement reaction  
C) combination reaction  
D) decomposition reaction  

 

 
 
82) 2H2(g) + O2(g) → 2H2O(l) 
ଉପେରାĽ Ȅତǰିିୟା କାହାର ଉଦାହରଣ?  

A) ବƳିାପନ Ȅତǰିିୟା  
B) େŸୖତ ବƳିାପନ Ȅତǰିିୟା  
C) ସଂେଯାଜନ Ȅତǰିିୟା  
D) ଅପଘଟନ Ȅତǰିିୟା  

 

 
 

83) A bullet of mass M hits a block of mass M'. The 
transfer of energy is maximum, when  

A) M' = M  
B) M" = 2 M  
C) M' >> M  
D) M' << M  

 

 
 

83) M ବƱୁŭ ବଶିƨି ଏକ ଗୁଳ ିM' ବƱୁŭ ବଶିƨି ଏକ ପଦାଥƽକୁ ଆଘାତ େଦଲା। 
ଶĽିର ଅଦଳବଦଳ ସବƽାǇକ େହବ, େଯେତେବେଳ  

A) M' = M  

B) M" = 2 M  
C) M' >> M  

D) M' << M  
 

 
84) Blood is flowing at the rate of 200 cm3 s-1 in a capillary 
of cross sectional area 0.5 m2. The velocity of flow in mm/s 
is  

A) 0.4  
B) 0.3  
C) 0.1  
D) 0.2  

 

 
84) 0.5 m2 ଅନୁȄƳ ବଶିƨି ଏକ େକଶୖକିେର ରĽ 200 େସମି3 s-1 ହାରେର 
Ȅବାହତି େହଉଛ।ି mm/sେର Ȅବାହର ସଂେବଗ େହଉଛ ି 

A) 0.4  
B) 0.3  

C) 0.1  
D) 0.2  

 

 
85) A piece of ice (heat capacity = 2100 Jkg-1 °C-1 and 
latent heat = 3.36 x 105 J/kg) of mass m grams is at -5 °C 
at atmospheric pressure. It is given 420 J of heat so that 
the ice starts melting. Finally when the ice-water mixture 
is in equilibrium, it is found that 1 g of ice has melted. 
Assuming there is no other heat exchange in the process, 
the value of m is  

A) 10  
B) 4  
C) 8  
D) 6  

 

 
 

Techofworld.In

Techofworld.In





Set Id : 53678_113 11-June-2019_Batch4_D.El.Ed Odia 

Page21of23  

85) ପରିପାƤǃକ ଚାପେର -5 °େସŠେିǲǫ  ତାପେର mǲାମ ବƱୁŭ ବଶିƨି ଏକ 
ବରଫ ଖŢ (ତାପ Łମତା= 2100 Jkg -1 °େସŠେିǲǫ -1 ଏବଂ ସƌୁ ତାପ = 3.36 
x 105 J/kg) ରହଛି ି । ଏହାକୁ ତରଳାଇବା ପାଇଁ 420 J ବଳ Ȅେୟାଗ 
କରାଗଲା। େଶଷେର େଯେତେବେଳ ବରଫ- ଜଳ ମିȎଣ ସŽୁଳତି େହଲା 
େସେତେବେଳ େଦଖାଗଲା 1 ǲାମ ବରଫ ତରଳଛି ି। ମେନକରŽୁ ଏହ ିȄǰିୟାେର 
ଅନȻ େକୗଣସ ିତାପ ବଦଳ େହାଇନାହǂ, େତେବ mର ମଲୂȻ େହଉଛ ି 

A) 10  

B) 4  
C) 8  

D) 6  
 

 
 
86) Free fall of an object (in vacuum) is a case of motion 
with  

A) zero acceleration  
B) uniform acceleration  
C) infinite acceleration  
D) variable acceleration  

 

 
 
86) (ଶୂନȻତାେର) େଗାଟଏି ବƱୁ ମĽୁ ଭାେବ ପଡୁǆେଲ ତାହା____ ଗତରି ଏକ 
ଉଦାହରଣ?  

A) ଶୂନȻ ŭରଣ  
B) ଏକରୂପ ŭରଣ  

C) ଅସୀମ ŭରଣ  
D) ପରିବŧƽନଶୀଳ ŭରଣ  

 

 
87) The surface temperature of the stars is determined 
using  

A) Wein displacement law  
B) Kirchhoff's law  
C) Rayleigh-Jeans law  
D) Lenz's law  

 

 
87) ତାରକାମାନŋର ପƪୃ ତାପମାǿା କ’ଣ ବȻବହାର କରାଯାଇ Ƴରି କରାଯାଏ  

A) େଓȴǜ ବƳିାପନ ନୟିମ  

B) କେିଚƽାǞ ŋ ନୟିମ  
C) େରେଲǌ-ଜନିȷ ନୟିମ  

D) େଲśŋ ନୟିମ  
 

88) What does algae use to collect photosynthetically 
active light during the process of photosynthesis?  

A) Ribosomes  
B) Chlorophyll a  
C) Mitochondria  
D) Centriole  

 

 
 
88) ଆଲେଗ ଆେଲାକ ସଂେଶȲଷଣ Ȅǰିୟା ସମୟେର କଣ ବȻବହାର କର ି
ଆେଲାକ ସଂେଶȲଷତି ସǰିୟ ଆେଲାକ ସଂǲହ କରଥିାଏ |  

A) ରାଇେବାେଜାମ  

B) େକȲାେରାଫିଲ ଏ  
C) ମାଇେଟାକŢରିା  
D) େସŠିȱଅଲ  

 

 
 
89) Which among the following options is NOT a 
component of plasma membrane of a cell?  

A) Proteins  
B) Carbohydrates  
C) Vitamins  
D) Lipids  

 

 
 
89) ନମିȪମżରୁ େକଉଁ ବକିƝ ଏକ େକାଷର ପȲାǐ ମା ଝିơୀର ଏକ ଉପାଦାନ ନୁେହଁ?  

A) େȄାଟନି  
B) କାେବƽାହାଇେǼଟ  

C) ଭିଟାମିନ  
D) ଲିପǕି   

 

 
 
90) Terramycin drug is an antibiotic obtained from which 
of the following microorganisms?  

A) Streptomyces Fradiae  
B) Streptomyces Aureofaciens  
C) Streptomyces Venezulae  
D) Streptomyces Ramosus  
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90) େଟରାମାଇସନି Ǽଗ େହଉଛ ିଏକ ଆŠବିାେୟାଟକି ଯାହା ନମିȪମżରୁ େକଉ ଁ
ସŃୂଜୀବ ଠାରୁ ମଳିଥିାଏ?  

A) େƩପିȡମାଇସସି େȅଡ ି 
B) େƩପିȡମାଇସସି ଅରଓିଫȻାସଏିନ  
C) େƩପିȡମାଇସସି େଭେନଜୁଲି  
D) େƩପିȡମାଇସସି ରାେମାସସ  
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Question Paper No:  53678_113  

Answer Key 

1.  C 
2.  D 
3.  B 
4.  B 
5.  C 
6.  D 
7.  D 
8.  D 
9.  A 
10. D 
11. A 
12. D 
13. C 
14. D 
15. B 
16. B 
17. D 
18. D 
19. A 
20. C 
21. A 
22. D 
23. D 
24. A 
25. C 
26. B 
27. A 
28. B 
29. D 
30. C 

 

31. B 
32. C 
33. C 
34. A 
35. B 
36. A 
37. C 
38. C 
39. C 
40. A 
41. B 
42. B 
43. A 
44. C 
45. C 
46. C 
47. A 
48. C 
49. C 
50. B 
51. D 
52. D 
53. C 
54. A 
55. C 
56. D 
57. B 
58. D 
59. D 
60. D 

 

61. C 
62. D 
63. B 
64. D 
65. D 
66. B 
67. D 
68. A 
69. C 
70. A 
71. D 
72. C 
73. A 
74. B 
75. C 
76. C 
77. D 
78. A 
79. C 
80. D 
81. C 
82. C 
83. A 
84. A 
85. C 
86. B 
87. A 
88. B 
89. C 
90. D 
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